MUNICIPALITY OF CABATUAN, ILOILO

Supplier:	JUNIOR	V. HA	RDW	ARE
-----------	--------	-------	-----	-----

P.O. No.

2023-06-072

Address:

Bermejo St., Cabatuan, Iloilo

Date:

June 8, 2023

Tel. No. (033) 333-0883

Mode of Procurement:

**Public Bidding** 

Gentelemen:

May 11, 2023

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description .	Unit Cost	T	otal Cost
1	1	pc	4' x 8' Tarpaulin(Printed)	958.00		958.00
2	1	100 CO 100 CO	8' x 8' Tarpaulin(Printed)	1,810.00		1,810.00
-3-	3	shts	¾" x 4 x 8' Marine Plywood	510.00		1,530.00
4	9	pcs	2" x 4" x 12' Good Lumber	290.00		2,610.00
5	9		2" x 2" x 10' Good Lumber	122.00		1,098.00
6	100		2" x 3" x 8' Good Lumber	145.00		14,500.00
7	300		2" x 2" x 8' Good Lumber	97.00		29,100.00
8	40		2" x 2" x 12' Coco Lumber	107.00		4,280.00
9	5	pcs	2" x 3" x 12' Coco Lumber	160.00		800.00
10	30	kgs	4" CWN	70.00		2,100.00
11	26	kgs	2" CWN	75.00	1	1,950.00
12	3	kgs	3" CWN	75.00		225.00
13	3	kgs	1 ½" CWN	80.00		240.00
14	20	kgs	1 1/4" CWN	80.00		1,600.00
15	5	kgs	4" Concrete Nails	100.00		500.00
16	5	kgs	1 ¼" Concrete Nails	100.00		500.00
17	911	bags	Blended Cement, Type 1T, Low Carbon, Local, 40kgs (Holcim)	235.00		214,085.00
18	1	cu.m.		586.00		293.00
19		cu.m.	10 100	960.00		59,520.00
20	141	cu.m.		960.00		135,360.00
21	1	roll	1/8"Ø x 100m Nylon String	45.00		45.00
- 21	-	TOIL	no ten anno 120 anno 150 anno	Sub-Total	P	473,104.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Authorized Officia

Conforme:

Date

Page 1

MUNICIPALITY OF CABATUAN, ILOILO

Supplier:	JUNIOR V. HARDWARE	P.O. No.	2023-06-072
Address:	Bermejo St., Cabatuan, Iloilo	Date:	June 8, 2023
	Tel. No. (033) 333-0883	Mode of Procurement:	Public Bidding
Gentelem	en:		May 11, 2023

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed

PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost	Total Cost
22	5	gals	Concrete Epoxy, High Viscosity, Pioneer	4,200.00	21,000.00
23	185	pcs	20mmØ x 6mm Def. RSB, Std, grade 40	626.00	115,810.00
24	125	pcs	16mmØ x 6mm Def RSB, Std., grade 40	397.00	49,625.00
25	230	pcs	12mmØ x 6mm Def. RSB, Std, grade 33	225.00	51,750.00
26	1,283	pcs	10mmØ x 6mm Def. RSB, Std., grade 33	155.00	198,865.00
27	40	pcs.	12mm Ø x 6m Plain RSB	335.00	13,400.00
28	20	pcs	Cut-Off Wheel, 14"Ø, Tailin	295.00	5,900.00
29	279	kgs	#16 G.I. Tie Wire	55.00	15,345.00
30	65	shts	3/8" x 4' x 8' Ordinary Plywood	690.00	44,850.00
31	14	sheets	1/4" x 4' x 8' Ordinary Plywood	479.00	6,706.00
32	100	pcs	Bamboo Poles, Layun, Premiera (min. length=25')	98.00	9,800.00
33	7,158	pcs	4" x 8" x 16" CHB, Ordinary (cured)	16.00	114,528.00
- 34	435	pcs.	6" x 8" x 16" CHB, Ordinary (cured)	20.00	8,700.00
35	198	ln.m.	0.40mm thk G.I. Pre-Painted Twin Rib Type Roofing (effective width= 1m; color- Spanish Red)	300.00	59,400.00
36	1,800	pcs	Tekscrew, 2" long	1.00	1,800.00
37	5	pcs	1½" x 12" x 8" Hardi Senepa Board	525.00	2,625.00
38	25	pcs	0.40mm thk x 18" x 8' Pre-Painted G.I. Gutter	350.00	8,750.00
39	15	pcs.	0.40mm thk x 18" x 8" Pre-Painted G.I. End Flashing	350.00	5,250.00
40	14	pcs.	0.40mm thk x 18" x 8" Pre- Painted G.I. Flashing	350.00	4,900.00
41	12	ln.m.	0.40mm thk x 0.116m Pre- Painted G.I. Spanflex	65.00	780.00
42	8	rolls	10mm x 1m width, Double Side aluminum film insulation (50 mtrs/roll)	4,470.00	35,760.00
43	10	box	Blind Rivets, 1/8"Ø x ½" (500pcs/box)	280.00	2,800.00
				Sub-Total	P 778,344.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Very truly yours

ALDH G. PUEYO, M.

Authorized Official

Conforme:

JUNIOR V. HARDWARE

Date name

, mllm PO No 2023-06-072

Page 2 of 10

MUNICIPALITY OF CABATUAN, ILOILO

Supplier: JUNIOR V. HARDWARE

P.O. No.

2023-06-072

Address: Bermejo St., Cabatuan, Iloilo

Date:

June 8, 2023

Tel. No. (033) 333-0883

Mode of Procurement:

**Public Bidding** May 11, 2023

Gentelemen:

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost	Total Cost
No.	43	pcs.	3" x 3" x 6mm thk x 20' Angle Bar	2,105.00	90,515.00
45	42	pcs.	2" x 2" x 6mm thk x 20' Angle Bar	1,045.00	43,890.00
46	37	pcs.	1.5mm thk x 2" x 4" C-Purlins	852.00	31,524.00
47	15	pcs.	4.5mm thk x-1" x 1" Angle Bar x 20'	445.00	6,675.00
48	8	pcs.	3.5mm thk x 1" x 1" Flat Bar x 20'	304.00	2,432.00
48	15	kgs.	Welding Rod, E6013, 3.2mmØ (Wipweld)	110.00	1,650.00
	118	pcs.	2 5mm thk v 4' v 8' Hardilite Ceiling Board	384.00	45,312.00
50	210	pcs.	0.40mm x 19mm x 50mm x 5m Metal Furring Channel	110.00	23,100.00
52	55	pcs.	1.00mm x 12mm x 38mm x 5m Metal Carrying Channel	130.00	7,150.00
53	80	pcs.	0.60mm thk. X 25mm x 25mm x 2.4m Wall Angle	40.00	3,200.00
54	20	kgs.	No.12 Tie Wire Hangers	112.00	2,240.00
55	840	pcs.	1" Motal Screw	0.50	420.00
56	2	sets	2.40m x 1.20m Sliding Fixed Glass Window, 6mm thk Clear Glass on Powder Coated White Tubular	7,415.00	14,830.00
57	14	sets	2.40m x 1.20m Sliding Fixed Glass Window, 6mm thk Sun Bronze Glass on Powder Coated White	7,415.00	103,810.00
58	1	set	2.40m x 2.10m Sliding Fixed Glass Window, 6mm thk Sun Bronze Glass on Powder Coated White Tubular Frames w/ Complete Accessories- 8 panels with installation	12,780.00	12,780.00
				Sub-Total	P 389,528.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Authorized Official

Conforme

Page 3 of 10

PO No 2023-06-072

MUNICIPALITY OF CABATUAN, ILOILO

Supplier: JUNIOR V. HARDWAR	WARE	RDW	HA	V.	JUNIOR	65	Supplier
-----------------------------	------	-----	----	----	--------	----	----------

P.O. No.

2023-06-072

Address:

Bermejo St., Cabatuan, Iloilo

June 8, 2023

Tel. No. (033) 333-0883

Mode of Procurement:

Public Bidding May 11, 2023

Gentelemen:

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost	Total Cost
59	3	sets	1.20m x 1.20m By-Passed Fixed Glass Window, 6mm thk Sun Bronze Glass on Powder Coated White Tubular Frames w/ Complete Accessories- 2 panels with installation	3,845.00	11,535.00
60	6	sets	0.60m x 0.60m By-Passed Fixed Glass Window, 6mm thk Sun Bronze Glass on Powder Coated White Tubular Frames w/ Complete Accessories- 2 panels with installation	1,545.00	9,270.00
61	1	set	8.70m x 3.0m Panel Glass Window, 6mm thk Sun Bronze Glass on Powder Coated White Tubular Frames w/ Complete Accessories- 30 panels with installation	67,290.00	67,290.00
62	1	set	3.10m x 6.05m Panel Glass Window, 6mm thk Sun Bronze Glass on Powder Coated White Tubular Frames w/ Complete Accessories- 30 panels with installation	13,675.00	13,675.00
63	2	sets	1.80m x 2.10m Two Leaves Swing Glass Doors (6mm thk Clear Glass Swing Door on Powder Coated White Tubular Frames w/ Complete Accessories with installation	21,545.00	43,090.00
64	3	sets	0.90m x 2.10m Swing Panel Door (Kiln Dried Solid Panel Door (Smooth Surface) on 2"x6" Door Jambs w/ 4pcs. 4" x 4" Heavy Duty Stainless Hinges and Lever Type Door Knob w/ Complete Accessories with installation	8,950.00	26,850.00
•				Sub-Total	P 171,710.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Conforme:

JUNIOR V. HARDWARE

Signature over printed name

Date

Page 4 of 10

PO No 2023-06-072 mllm

MUNICIPALITY OF CABATUAN, ILOILO

Supplier: JUNIOR V. HARDWARE

P.O. No.

2023-06-072

Address: Bermejo St., Cabatuan, Iloilo Tel. No. (033) 333-0883

Date: Mode of Procurement: June 8, 2023 **Public Bidding** 

May 11, 2023

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost	Total Cost
65	4	sets	1.0m x 2.10m Swing Panel Door w/ Louver (Kiln Dried Solid Panel Door (Smooth Surface) on 2" x 6" Door Jambs w/ 4pcs. 4" x 4" Heavy Duty Stainless Hinges and Lever Type Door Knob w/ Complete Accessories with installation	11,800.00	47,200.00
66	25	sq.m.	6 Cubicles CR (2-1.75m x 1.50m, 2-1.25m x 1.50m, 2-1.45m x 1.60m), 6 unit doors (0.70m x 1.185m), 6 units Partition walls x 195cm high with Stainless Frames, Stainless Rod Support w/ escutcheon, Push and Pull Stainless Door Lock, Coat Hook, Urinal Bracket, U and Corner Channel and Top Rail with installation	7,050.00	176,250.00
67	606	pcs.	0.60m x 0.60m Polish Tiles	138.00	83,628.00
. 68	1,229	pcs.	0.30m x 0.30m Rustics Tiles for Flooring	38.00	46,702.00
69	242	pcs.	0.30m :: 0.60m Polish Tiles for wall	84.00	20,328.00
70	790	pcs.	0.10m x 0.30m Polish Tiles for wall	22.00	17,380.00
71	4	sq.m.	Decorative Stones (wall state, color-gray)	980.00	4,116.00
72	57	gals.	Redfix Adhesive, 4L(Boysen)	960.00	54,720.00
73	48	cans	Pebbles Washed Out (1 cu.ft./can, #3; color- yellowish mactan)	400.00	19,200.00
74	15-	bags	Tile Adhesive (25kgs./bags), Heavy Duty (Baufix)	293.00	4,395.00
75	6	bags	Tile Grout, 2kgs./pack	85.00	510.00
76	53	gals.	Concrete Neutralizer (Boysen)	420.00	22,260.00
77	61	gals.	Concrete Prime/Sealer (Davies)	570.00	34,770.00
78	84	kgs.	Patching Compound	40.00	3,360.00
			a conjunction	Sub-Total	P 534,819.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Authorized Official

Conforme:

JUNIOR V. HARDWARE

\* mllm PO No 2023-06-072

Page 5 of 10

MUNICIPALITY OF CABATUAN, ILOILO

Supplier: JUNIOR V. HARDWARE

P.O. No.

2023-06-072

Address: Bermejo St., Cabatuan, Iloilo

Date:

June 8, 2023

Tel. No. (033) 333-0883

Mode of Procurement:

**Public Bidding** 

Gentelemen:

May 11, 2023

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed

PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost		Total Cost
79	102	gals.	Semi-Gloss Latex, 2 coats (Boysen)	727.00		74,154.00
80	6	bags	Skim Coat, Ultra Fine, 20kgs. (Bostik)	585.00		3,510.00
81	10	gals.	Plexibond, Waterproofing Paint, 4 gals. (Boysen)	798.00		7,980.00
82	30	pcs.	#80 Sand Paper, Water Proof	18.00		540.00
83	30	pcs.	#120 Sand Paper, Water Proof	18.00		540.00
84	10	pcs.	Baby Roller, polyester (6")	45.00		450.00
85	10	pcs.	2" Paint Brush	35.00		350.00
86	12	gals.	Red Oxide Primer (Boysen)	515.00		6,180.00
87	4	gals.	Paint Thinner (Boysen)	405.00		1,620.00
88	13	pcs.	2" Ø x 6m Stainless Pipe w/ Escutcheon Plate	3,080.00		40,040.00
89	11	pcs.	1½" Ø x 6m Stainless Pipe	2,215.00		24,365.00
90	10	kgs.	Stainless Steel Welding Electrodes	350.00	e m	3,500.00
91	15	pcs.	150mmØ x 3m PVC Pipe Series 1000 (Fuji)	1,860.00		27,900.00
92	3 .	pcs.	100mmØ x 3m PVC Pipe Series 1000 (Fuji)	840.00		2,520.00
93	33	pcs.	75mmØ x 3m PVC Pipe Series 1000 (Fuji)	628.00		20,724.00
94	15	pcs.	50mmØ x 3m PVC Pipe Series 1000 (Fuji)	293.00		4,395.00
95	3	pcs.	150mmØ PVC Elbow 900 (atlanta or its equivalent)	340.00		1,020.00
96	3	pcs.	100mmØ PVC Elbow 900 (atlanta or its equivalent)	108.00		324.00
97	23	pcs.	75mmØ PVC Elbow 900 (atlanta or its equivalent)	67.00		1,541.00
98	15	pcs.	50mmØ PVC Elbow 900 (atlanta or its equivalent)	45.00		675.00
99	5	pcs.	150mmØ PVC Elbow 450 (atlanta or its equivalent)	330.00		1,650.00
100	5	pcs.	100mmØ PVC Elbow 450 (atlanta or its equivalent)	108.00		540.00
				Sub-Total	P	224,518.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Very truly yours,

**Authorized Official** 

Conforme:

JUNIOR V. HARDWARE

ature over printed name

Date

mttm PO No 2023-06-072 Page 6 of 10

MUNICIPALITY OF CABATUAN, ILOILO

Supplier: JUNIOR V. HARDWARE

P.O. No.

2023-06-072

Address: Bermejo St., Cabatuan, Iloilo

Date:

June 8, 2023

Tel. No. (033) 333-0883

Mode of Procurement:

**Public Bidding** May 11, 2023

Gentelemen:

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost	То	tal Cost
101	2	pcs.	75mmØ PVC Elbow 450 (atlanta or its equivalent)	67.00		134.00
102 -	12	pcs.	50mmØ PVC Elbow 450 (atlanta or its equivalent)	45.00		540.00
103	4	pcs.	equivalent)	670.00		2,680.00
104	3	pcs.	150mmØ x 100mmØ PVC Sanitary Wye Reducer (atlanta or its equivalent)	220.00		660.00
105	2	pcs.	150mmØ x 50mmØ PVC Sanitary Wye Reducer (atlanta or its equivalent)	255.00		510.00
106	12	pcs.	75mmØ x 50mmØ PVC Sanitary Wye Reducer (atlanta or its equivalent)	80.00		960.00
107	20	pcs.	150mmØ PVC Coupling (atlanta or its equivalent)	335.00		6,700.00
108	6	pcs.	100mmØ PVC Coupling (atlanta or its equivalent)	70.00		420.00
109	32	pcs.	75mmØ PVC Coupling (atlanta or its equivalent)	48.00		1,536.00
110	30	pcs.	50mmØ PVC Coupling (atlanta or its equivalent)	35.00		1,050.00
111	20	pcs.	150mmØ PVC Tee (atlanta or its equivalent)	790.00		15,800.00
112	14	pcs.	100mmØ PVC Tee (atlanta or its equivalent)	195.00	1113	2,730.00
113	32	pcs.	75mmØ PVC Tee (atlanta or its equivalent)	125.00		4,000.00
114	30	pcs.	50mmØ PVC Tee (atlanta or its equivalent)	60.00		1,800.00
115	2	pcs.	150mmØ PVC Clean Out (atlanta or its equivalent)	275.00		550.00
116	9	pcs.	1"Ø 3mm PVC Blue Pipe	120.00		1,080.00
117	3	pcs.	34"Ø 3mm PVC Blue Pipe	90.00		270.00
118	7	pcs.	½"Ø 3mm PVC Blue Pipe	65.00		455.00
119	6	pcs.	34" Ø x 900 Elbow	14.00		84.00
120	15	pcs.	½" Ø x 900 Elbow	10.00		150.00
121	25	pcs.	½" Ø uPVC Tee	13.00		325.00
122	20	pcs.	1" x ¾" uPVC Tee Reducer	15.00		300.00
	D. I			Sub-Total	P	42,734.0

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Conforme:

JUNIOR V. HARDWARE

Page 7 of 10

MUNICIPALITY OF CABATUAN, ILOILO

Supplier: JUNIOR V. HARDWARE

P.O. No.

2023-06-072

Address: Bermejo St., Cabatuan, Iloilo

Date:

June 8, 2023

Tel. No. (033) 333-0883

Mode of Procurement:

**Public Bidding** 

Gentelemen:

May 11, 2023

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed

PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost	Total Cost
123	10	pcs.	¾" x ½" uPVC Tee Reducer	12.00	120.00
124	6	sets	Closed Couple Ceramic Closet w/ Complete Accessories with flexible hose	4,650.00	
125/	2	sets	Ceramic Urinal w/ Complete Fittings w/ flush	3,150.00	6,300.00
126	8	sets	Counter Top Lavatory w/ complete Fixtures & Accessories w/ flexible hose and P-trap	2,350.00	18,800.00
127	8	pcs.	#304 Stainless Faucet Stant Type	320.00	2,560.00
128	10	pcs.	#304 Floor Drain	60.00	600.00
129	16	pcs.	#304 Stainless Angle Valve, single	220.00	3,520.00
130	16	pcs.	12" Stainless Flexible Hose	100.00	1,600.00
131	20	rolls	3/4" x 10' Teflon Tape	18.00	360.00
132	17	cans	Solvent Cement, 100cc (sheerman)	80.00	1,360.00
133	14	bags	Waterproofing White Cement 2kgs./bag (ABC)	38.00	532.00
134	4	pcs.	100mm Ø x 3m S1000 PVC (atlanta)	840.00	3,360.00
135	8	pcs.	100mmØ PVC Clean Out (atlanta)	80.00	640.00
136	1	рс.	Panel Board: Main 160AT, 2P, 250Vac, 60Hz, MCCB, 12KAIC (Bolt on type, G.E)	6,520.00	6,520.00
137	16	pcs.	Branches: 20A1/50AF, 2P, 250Vac, 1 Ø Circuit (10KAIC), Bolt-on (GE)	420.00	6,720.00
138	1	unit	17-holes, 1-main, 16 branches, Panel Board, 1"Ø, NEMA 1 Enclosure, 20KA Bus Bracing w/ ground Terminal (G.E)	2,000.00	2,000.00
139	. 30	pcs.	24W LED Square Wide Beam Angle DL, Recessed (Philips or better)	850.00	25,500.00
140	4	pcs.	12W LED Square Wide Beam Angle DL, Recessed (Philips or better)	385.00	1,540.00
141	3	pcs.	12W LED Circular Wide Beam Angle DL, Recessed (Philips or better)	385.00	1,155.00
Stell 1	S			Sub-Total	P 111,087.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Very truly yours

Authorized Official

Conforme:

JUNIOR V. HARDWARE

Date

MUNICIPALITY OF CABATUAN, ILOILO

Supplier: JUNIOR V. HARDWARE

P.O. No.

2023-06-072

Address: Bermejo St., Cabatuan, Iloilo

June 8, 2023

Tel. No. (033) 333-0883

Mode of Procurement:

**Public Bidding** May 11, 2023

Gentelemen:

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed

PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost	To	tal Cost
142	5		15W LED Square Wide Beam Angle DL, Surface mounted (Philips or better)	610.00		3,050.00
143	2	pcs.	3W LED Square Type Wall Lamp (Philips or better) 2x3 Dual Optics Emergency Light (panasonic or	500.00		1,000.00
144	5		2x3 Dual Optics Emergency Light (panasonic or better)	2,500.00		12,500.00
145	8	unit	Exhaust Fan, Ceiling Type (Omni/Royu)	960.00		7,680.00
146	20	m	8.0 sq.mm THW/THWN copper wire (columbia/flex/Phelps)	68.00		1,360.00
147	100	m	5.5 sq.mm THW/THWN copper wire (columbia/flex/Phelps)	43.00		4,300.00
148	16	rolls	3.5 sq.mm THW/THWN copper wire (150mtrs/roll)	3,690.00		59,040.00
149	3	rolls	2.0 sq.mm THW/THWN copper wire (150mtrs/roll)	2,515.00		7,545.00
150	30	mtrs.	20mmØ uPVC Flexible Conduit (atlanta or better)	10.00		300.00
151	165	length	20mmØ Electrical PVC Pipe (atlanta or better)	75.00		12,375.00
152	1	length	100mmØ Electrical PVC Pipe (atlanta or better)	1,000.00		1,000.00
153	421	pcs.	20mmø uPVC Rigid Conduit Adapter (atlanta or better)	12.00		5,052.00
154	57	pcs.	20mmø uPVC Flexible Conduit Adapter (atlanta or better)	12.00		684.00
155	65	pcs.	20mmØ uPVC Conduit (atlanta or better)	15.00		975.00
156	59	pcs.	20mmØ uPVC Elbow (atlanta or better)	15.00		885.00
157	5	sets	One Gang Switch Wide Series (Universal Type, Panasonic)	78.00		390.00
158	9	sets	Two Gang Switch Wide Series (Universal Type, Panasonic)	127.00		1,143.00
159	2	sets	Three Gang Switch Wide Series (Universal Type, Panasonic)	176.00		352.00
				Sub-Total	P	119,631.00

[Amount in words]

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Very truly yours,

**Authorized Official** 

Conforme

JUNIOR V. HARDWARE

Signature over printed name 06-12 nom

PO No 2023-06-072

Page 9 of 10

MUNICIPALITY OF CABATUAN, ILOILO

Supplier: JUNIOR V. HARDWARE

P.O. No.

2023-06-072

Address: Bermejo St., Cabatuan, Iloilo

Tel. No. (033) 333-0883

Date Mode of Procurement:

June 8, 2023 **Public Bidding** May 11, 2023

Gentelemen:

Please furnish this office the following articles to the terms and conditions contained herein:

Place of Delivery: Poblacion, Cabatuan, Iloilo

Date of Delivery: Thirty (30) days upon receipt of approved Notice to proceed PR No. 2023-03-0227: Procurement of Materials for the Completion of Liga Hall

Item No.	Qty.	Unit	Description	Unit Cost		Total Cost
160	2	sets	Three Way Switch Wide Series (Universal Type, Panasonic)	120.00		240.00
161	5	sets	Panasonic)	78.00		390.00
162	17	sets	Duplex Receptacle Outlet, grounding type (Universal Type, Panasonic)	164.00		2,788.00
163	10	sets	holes	164.00		1,640.00
164	43	pcs.	PVC Utility Box (2" x 4")	23.00		989.00
165	100	pcs.	PVC Octagonal Box (4" x 4")	33.00		3,300.00
166	4	pcs.	PVC Pull Box (4" x 4")	85.00		340.00
167	20	rolls	Electrical Tape, Big (armax or better)	40.00		800.00
168	1	pc.	Service Entrance Cap, 100mm Ø	250.00		250.00
169	1	pc.	Grounding Rod Copper Clad (16mm Ø x 3m)	950.00		950.00
170	8	packs	Cable Tie, length not least than 10" 100pcs/pack	150.00		1,200.00
171	20	rolls	Rubber Tape (columbia or its equivalent)	180.00		3,600.00
172	8	pcs.	Exhaust Fan, 12", 230Vac/1P/60Hz, 250-300cfm (Pansonic)	1,385.00	0	11,080.00
173	16	pcs.	100mmØ x 3m PVC Pipe (atlanta or better)	840.00		13,440.00
174	2	pcs.	150mmØ x 3m PVC Pipe (Atlanta or better)	1,860.00		3,720.00
175	3	pcs.	150mmØ PVC Coupling (Atlanta or better)	335.00		1,005.00
176	5	pcs.	100mmØ PVC Coupling (Atlanta or better)	70.00		350.00
177	4	pcs.	100mmØ 900 PVC Elbow (Atlanta or better)	108.00		432.00
178	4	pcs	100mmØ Wye PVC Pipe (Atlanta or better)	192.00		768.00
179	7	pcs.	Stainless Cap	250.00		1,750.00
180	9	pcs.	Fire Extinguisher, 9kgs., Type ABC, Dry Chemical, w/ Hanger	4,575.00		41,175.00
181	69	ln.m.	Fabricated Moulding (1" x 8 ft.) w/ installation	800.00		55,200.00
			, J	Sub-Total		145,407.00
Ber 4	10 15 5	100		Grant Total	P	2,990,882.00

[Amount in words] Two Million Nine Hundred Ninety Thousand Eight Hundred Eighty Two Pesos

In case of failure to make full delivery with in the time specified above a penalty of one-tenth (1/10) of one percent for every day of delay should be imposed.

Very truly yours,

**Authorized Official** 

Conforme:

JUNIOR V. HARDWARE

Don winted n Date

PO No 2023-06-072 mllm

Page 10 of 10